mean # PXL hits vs eta | mean # PXL Layers with measurement vs eta |

<pixel hits>

LI
H——
= ——

3.5

<pixel layers>

e e
=3

+¢¢+**¢¢ﬁ+++,,##*+w****#*** 25

. . . . . o S R
..................................................................... . h h h h '

.....................................................................

Qo

J-.\'Ollllillllillllillll:

Ratio

=
LI L N
2
i
-t

=
TT T T[T T 1T
—e———
—_—l—
1=
h————
T eu—|
———-—
JRS— . 4 —

0.95
3

|
w

|
N

—OoTiginat_Step2_tthar-phase L-MEWgE0m
ixel CPETemplate_step2 ttbar-phasel-newgeom

0
_BierCPETempIateCut hiSquareNew_step?2_ttbar-phasel-newgeom
pixelCPETemplateCutChiSquareNewZ_stepZ_ttbar-phasel-newgeom
p

<strip hits>

F PR— = e :__i?(_g_l(;_I?!E_'_I’_c_am_p_l_a_t_c_e_(_:_g_t_ChiSquareNeWS_stepZZttbar-phasel-newgeom
S g 1 ------ S RS EERNE S

<strip layers>
\‘
I

...............

¢

IIIIIIIIIIIIIIIIIIIIIIII
HIE) : : : [

10
1.05

Ratio

R E S JP R

d ARRAL A
e .
* 0F
. +| |4
8 ES
Tt e e e
=1 |-k +1 I
e LT .
- kbR
i 1

A

Lid*y
3
+

0.95
0.9

QO[T T T T 11




	Contents
	Page 1


